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Question Paper Specific Instructions

Please read each ofthe following instructions carefully before attempting questions:

There are EIGHT geestias diviced in TWO SECTIONS and printed loth in HINDI and in
ENGLISH.

Cadichte hes toattept FIVE g estias indll.

Qestias o, 1 and 5 are aampulsary and autof tte renaining, any THREE are tole attenpted
doosingat kesst ONE franeach section

The numer ofmarks camied by a gLesticn/part isindicated agairst it

Ansners must ke written in the nmedium authorizad in the Admission Gartificate which nust ke

stated dearty an tte cover of this Questian—-aum-Arsner (QCA) Boddet in tte soece providsd No
markswill bkegnenfarasierswittien inanmediumattertren treauthorizzdae

Word limit ingestias Wherever gosafied dould beadhered to
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Aapts of g estias Salll e acounted in seq ential ardkr. Unless struk dff, attenpt ofa gestion
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C-AVZ-O-DPNA 7
Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

- < SECTIONA =
vk ' 44 Lk oxe . A
. ..rv . V
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-Answer the following questions in about 150 words each : 10x5=1
(@) % MikerfN srmTfor w ra A 7R i
w iw t; 3515m 1
Explain in brief ; the concept of "Activity Based Costing*. Give a
numerical example.
(b)  “s%?rcf aftr ~ () % sfta aim A<T1 T’
. WI 3m.w n f 2 ndWJ| - 37T WWITCT ~
;AN
“Cash from operations (CFO) is not the same as profit after tax (PAT).”
,, Do;you agree with this statement ? Give reasons using the Accounting
Standard - 3.
(c) 3*k (TTTTTTHSH) % 3 A sffa
i |
What are the objectives and functions of Aud|t|ng and Assurance
Standards Board (AASB) ?Explain. .
() A Asrioh<ui, CEAN SRR
Explainlhe accounting for VAT, with examples.
(e) gWJT W AcTT | ? 'STento
|
What is inter-process profit ? Show the treatment of inter-process profit
with an example.
Q2. (@) X 1%, 38 TIdi <ttt «lc™ ™ 1%5nT A | 1 fadHR 3TE#
draMH 'S, A A if £ 1 PISMW
5 ypft |, 3tk ~51 STIM frcffa sficR 10~ A t |
:? 1,50,0003 iate w *taflT  “aknff % fair 2=io.000 jrifcf * % %rra
e m % 3#0t 17N *st 11
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trefr ~ wra ? 2,20000 n Jrefir % W.
? 1,70,000 wra 3WTift | spfft SfJ ~3T 7 TCRW. 10
to KM feft PllKxl % RT | SHIM well » non

y™wal % %ti, r 30000  3#ftri; to f wft<a A sira’Rii i
N nsfa % ~ro %pft An~TIMRI 3'ton N A?ft, fira%-~"RgW 5ifl*
TR3R3 ? 60,000 2 ~mp 3ftt MicRff iMMH W Ii 2 2,00,000 A

? 2,20,000 i
A A 35%3fk3 A WRT 10%t |
W wpft*Stft™ TRta% *SfR TCo&ft % fewR

n#f % Riftm tR ginft fift % fori <J#m erf 3 ft ~Ng-37ctft Tjsft %
3 NYart o M barll

A Ltd. is considering the replacement of one of its machines. The existing
machine is in good operating condition, but the company is looking for a
bigger machine. The existing machine is 5 years old, and has remaining
depreciable life of 10 years. The machine was purchased for T 1,50,000
and is being depreciated at ~ 10,000 per yearfor tax purposes.

The new machine will cost ? 2,20,000 or ~ 1,70,000 if exchanged with
the existing machine. It will be depreciated on a straight line basis for
10 years with no salvage value. The management anticipates that, with
the increased operations, there will be a need for an additional net
working capital of W30,000. The new machine will allow the company to
expand current operations thereby increasing annual revenue by
~ 60,000 and variable operating costs from T 2,00,000 to ~ 2,20,000.

The company's tax rate is 35% and its cost of capital is 10%.

Should the company replace its existing machine ? Assume that the loss
on exchange of existing machinecan be claimed asshort-term capital
loss in the current year itself.

(b) 4 wra  TIBRJIHHd t
w. aiw f 'siggra = 30%; ‘Jtacff wra = ? 7jrfcf Tig™"R-"R %
10,000 11 W .
10% 33T l, N
~cft t.afo, fotim w. ? 4,000 w*! t i? 6000 % 5# n

| | P
20%"N?r ~cft |; *Ifar#WRJ » w k W6~m
t alkktern gt ? 40000 M .1 1*35H*arc ftsft
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Cost and revenue information of A Ltd. is as follows :

Contribution to Sales Ratio = 130%; Variable cost = ~ 7 per unit;
Break-even point is equal to 10,000 units. Find the following:

e Company reduces the selling price by 10%, reduces the variable
cost to ™ 6 and spends T 4,000 on advertisement. Find sales to

earn a profit of T 6,000.

= Company increases the selling price by 20%; reduces the variable
cost to ~ 6 and spends 4,000 on advertisement. Find the

break-even volume of sales.
m0' am = 1961 % alt*
% srsfft afk » cim % Nw i

Explain the provisions of the Income Tax Act, 1961 with regard to set-off
arid carry forward of loss under the head Income from Business and

Profession and Capital Gains.
Q3. @ 5T 31 2015~ NN S Hrifet ~
INT W | d5 2015 - 16 % swft 3P »
WRT % ftHfafiskl t:
(); 50,000~ W
(ii) oMirbld 3tR @? 30,000 3# WIT
(iii) 3TF *f @ € 3,0003# W
(iv) Hal @ r 2,0003# IT?
() |IR3MNbneti @ r 2,5003# W
(vi) kjl+rHI W @ ? 5,000 3# *TT?
(vii) W @ ? 1,0003# in?
(viii) 3# erf ? 15,000 % 3TISRfa* "5#f |
(i) » M tM33% TH 15% HvdIMra ftfa Hit 3
~rto | N 37% t 9t
(X) STRrefNr gfctsir % ? 20000 3# nr? *rar
t; ™ 33% mRT 3 AT ? 25,000 3# % fc["St |
(xi) 3%% 33% 3n<TOfa % felcft 3jk JUrfl-blH %
N fArt# a”ppft  ftrocgr *rar;l#r sfisrac ? 70,000 sffc ? 20,000 «ft i
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(xii) PIHfclfisM 3<<Wo6T  sff :
. MteR dftiriilfilvH ? 1,20,000 (“TT Tift ? 10 cI”It)
n. 3/ n n ? 25,000
m. 3NppfticT W TIHAJT /TR SlidRV 2 30,000
(\VA jif ~frra ("R ) w 2,00,000"1

MW 2015 - 16% %r?,, 3TF# Mld 3IFt  WHI |

Mr. S is employed by A Ltd* at Delhi throughout the financial year

ended on 31st March, 2015. He furnishes the following particulars for
computation of his income for the assessment year 2015 - 16 :

(1) Basic Salary @ ~ 50,000 per month

(i) Personal Pay @ W30,000 per month

(iii) Conveyance Allowance @ ~ 3,000 per month

(iv) Uniform Allowance @ ~ 2,000 per month

(v) Knowledge Update Allowance @ ™ 2,500 per month
(vi) Medical Allowance @ T 5,000 per month

(vii) Entertainment Allowance @ ~ 1,000 per month

(viii) He is provided with gift vouchers of ~ 15,000 per year.

(ix) His employer contributes 15% of the basic salary to his recognised
provident fund account. Similar amount is deducted from his salary
as his contribution to the fund.

(X) He gets house rent allowance @ ™ 20,000 per month against a rent
of ~ 25,000 per month paid by him for his residential
accommodation.

(xi) His employer paid electricity and telephone bills of his residential
house amounting to ~ 70,000 and T 20,000 respectively for the

whole year.

(xii) During the year he made the following payments :
I. Life insurance premium % 1,20,000 (sum assured is
~ 10 Lacs)
Il. Life insurance premium on the life of his major son T 25,000

I11. Mediclaim policy premium paid in cash ~ 30,000
IV. Donation of  2,00,000 to an approved charitable trust

Compute his taxable income for the assessment year 2015 —16.
C-fivZ-O-VPNA )
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w( b ) ~ n wij ?
A1'OT! STOT™  gi?ft faKfou]loH* 7TIPET3E A Whc? 3 U*p
|

What5is the need and importance of sampling in audit ? Briefly outline
the analytical procedures to be adopted while conducting audit. 15

© ‘sfcf "Ro(41 3T&5 sfk ‘aft 2sr <pjfar a#f % »(k, vincfk <3<dwsw
wiw % 3 1 % *rra, i

Differentiate between ~Basic Earnings Per Share7and Diluted Earnings

Per Share’ with reference to Indian Accounting Standard. 10
Q4. ; (@ = RnfcHfed X %. % ftrfe 11# <t % f.1arffa, 2014 «ft,
w
AN gftMrRIT 50,000
H <TiHl M 1,00,000
50,000
#2> t#fi 1,50,000
10 25,000
(w) 30,000
: 3,60,000
($ <k} 25,000
Mm (~cm tea) 130,000
urn (?\m m) 50,000
N % ANTH AN
(i) HWAWI 60% ? 2,00,000% 3*IK T™:].

(i) araftt % jifen sthifeu w”~cR ?20,000. -
A -
(i) Ufa™ few ? 10,000#? 3RTfen |

(iv) a”, WglxRn 3pt™ crflm sroravsrcRre nfell ter i
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™ ("R sfrc N % .feir);~ji:fenifflt:]
(vi) y#t. % ? 20sfitifcrct, r 50,000% A

(vip 31 2014~ (M3 < 3RPPit% «N ? 255 3Rl «PIRcftiR

NN IfTE N mmnm: ./

e>es ' | e % . 1 - AVl
(viii) 60% ~KIdisfi (37AKF) ATWAA T TOM

(%) 3T5[INftgn% 30 % # A~ H#A |
13T, 2014 3fc 31 WS, 2015 % filler % 3F$m < TN

ark 31 205 w<f 2~ % N ermNift Amr stk
7STEIT *ft |

Following table shows relevant financial items of X Ltd. as on 1st April,
2014

Items

Intangible Assets 50,000

Inventories at cost 1,00,000

Share Capital (Face Value = 2 per share) 50,000

Cash and Bank balances 1,50,000
10% Bonds 215,000
Receivables 30,000
Total Sources 3,60,000
Creditors 25,000
Plant (Net of depreciation) 30,000
Plant at cost 50,000

Transactions during the year are given below :
(1) Sold 60% of the inventories on credit for ~ 2,00,000.

(i) Salary for the period paid fully ~ 20,000.
C-AVZ-0-2PNA 7
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(iti) Rent peryear ? 10,000. Paid rent for three years.

(iv) Intangible assets amortized over next four years equally.

(v) Plajat is 4 years old. Depreciation is charged using the Straight
Line Method (SLM) (for both tax and accounting purposes).

(vi) Purchased shares of Y Ltd. worth W 50,000 by issuing shares.
, > at ? 20 per share.

. (vii) Redeemed Bonds on 31st March, 2014 (after the payment of
interest) by issuing shares at the market price of ™ 25 per share.
(viii) Paid off 60% of the creditors.
(ix) Tax paid @ 30% of profits.

; Prepare; Balance Sheets as at 1st April, 2014 and 31st March, 2015
along with Profit & Loss a/c and Cash a/c for the year ended on

31st Mai*ch, 2015. 30

\

(b) sifc-awM % I

Distinguish between Divisible profits and Dividends. 10

© o (ts) % KUY (M ) % Mieoed ([ Tict) » |

Discussjthe mechanism of levy of Value Added Tax.

C-MZ-O-DPNA 8

Downloaded From: http://iasexamportal.com

320



Downloaded From: http://iasexamportal.com

W 5B
SECTION B
gs. ftnfcifeH mw i 150~2rs"ff

Answer the following questions in about 150 words each: 10x5=50

(@  O0dEHMIKPT™  |CL ofN~r 3jfc rtmiftdl % |
Examine with an example the relationship between leverage and
profitability.

(b) W ft % %IT OTR T m# yiyPl+dl ~ 2 fafeR. |
Write a note on the relevance of credit-rating for a power sector
company.

(© tRT eft (WIf-%) %

3 I
Explain iii brief the regulations of SEBI for Buy-back of shares by a
company.

(d) *tft# Wit CcTWRTiftta W w 35#f 1
Explain briefly the factors that determine the dividend policy of a
company.

(e) “yfcltliftd 3#fr ~ ~ WRT  #cft] I I
“Retained earnings have no cost.” Comment.

Q6. (@) RhINNMd SWMgR rfefcf ~ W , fedfa cfNtsr W afa grE
N S D
(~ f 3) 17,500 6,700 31,800
OTtecff dPTZ of) 4,00,000 3,50,000 2,50,000
in W 1,25,000 7moo ¥V
sfcf M\Z fluSl-$m - (?) 85 130 37
J-lﬁ)\d-jﬂthecff criMid (?) 38 42*50 12

OoTWt mMW h % MRuilfii 33T 374 ft+WHI't |
C-fIVZ-O-DPNft 9
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Calculate the degree of operating leverage, degree of financial leverage
and djegree of combined leverage for the following finns :

N - S D
Production (in units) 17,500 , 6,700 31,800
Fixeji costs (™) 4,00,000 3,50,000 2,50,000
jinterest on long-term loan (T) 1,25,000 75,000 NIL
ISelling price per unit () \ 85 130 37
Variable cost per unit (©) 38 42-50 12

You are also required to interpret'the results of your calculation.

(b) ftnfdferfRIfM 3 1 ™~ ™Hilcrl to; NaicTt
(i) ~ 50 N Nt toft % ~
Wt l
(i) WATCT A *TIRTATT | % 33T N AftfcT f
|
(111)1Tics Nr toft "Fft 3 SICHt N T %
(iv) ~ fefk w&Fz % to; "t t? w to R
ST t |

Explain the important ratios that will be used in each of the following
situations:

(i)

(ii);

A bank is approached by a company for a working capital facility of
W50 lacs.

A long-term creditor who is interested in knowing whether his

1 claim is adequately secured.

(iii)

(iv)

C-MZ-ODPNA

A shareholder who is examining his portfolio to decide whether to
hold or sell his holdings in the company.

A finance manager who is interested to know the effectiveness with
which the available resources are utilised.

70
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© WT jPfif A SfficT  cltfa
(i) fswij<J #15
(i) fkoft eft#>3
(iii) (W ife

(iv) (gfen) Wb

Describe the nature of the following debt instruments :
(i) Deep Discount Bonds

(i) Floating Rate Bonds

(ili) Extendable Notes

(iv) Junk Bonds

Q7. @ S%.% 31, 20123ffc3 1", 2013% pR ~ f -

31-3-2012  31-3-2013
ST

50,000 70,000

«imm ftrd 5,000 8,000
w t 10,000 15,000

<K 15,000 19,000
ftcT . 4,000 5,000
1,000 500

85,000 1,217,500

~roRraT:
nRRMT :
TO 50,000 80,000
8,000 12,000
<> 5,000 7,500
(™ r) 20,000 15,000
2,000 3,000
85,000 1,17,500
>AVZ-0-DPNA V
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(i) SRHmM r 5000 3Tk TfiMt TRT 2,000  iJMURT <# 2012 - 2013 %,
#itj TmiThr Lart w11

(i) TRfig %?pEt HPIET ? 1,200 «ft, 1 sdfo, 2012~ ? 800 3
fi"TW «n 133 TR3HR3, 2012335 ? 700 % fen
TNt

31317, 2013/ Ftoi erf%  =jM&pd mpe? idoowr foR i

The Balance Sheets of S Ltd. at 31st March, 2012 and 31st March, 2013
are as under:

31-3-2012  31-3-2013

Particulars f5
Equity and Liabilities :
Shareholder’'s Funds :
Share Capital 50,000 70,000
General Reserve 5,000 8,000
Profit and Loss Alc 10,000 15,000
Current Liabilities :
Creditors 15,000 19,000
Bills Payable 4,000 5,000
Outstanding Expenses 1,000 500
85,000 1,17,500
Assets :

Non-Current Assets :

Building 50,000 80,000

Machinery 8,000 12,000
Current Assets :

Stock in Trade 5,000 7,500

Debtors 20,000 15,000

Cash and Bank Balance 2,000 3,000

85,000 1,17,500
C-AVZ-OrPPNA 12

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

Following further information is available :

(1) Depreciation of ? 5,000 on building and T 2,000 on machinery has
been charged for the year 2012 - 2013.

(i) A machine costing w 1,200 was sold on 1st April, 2012 for
? 800. Depreciation of ? 700 was provided on the same upto
31st March, 2012.

Prepare classified cash flow statement for the year ended on

31st March, 2013.

(b)  Hhaxn 3 FTC 'stftr?, |
Explain briefly the factors influencing the working capital requirement.
(© ft&T ftnfa % eft yiad ~  (3NIN3TR3TR) Nt
sik gtowtafi o I
Discuss the utility and limitations of Internal Rate of Return (IRR)
method of appraising a capital investment decision,
Q8. (a) *TK?T 3 sffal «bl<ldK % 3 ‘fIf (3TIN3TK.it.T'.) ~ft ijftcBT TO
Ntftnyj; |
Explain the role of IRDA in regulating insurance business in India.
(b fift sft (N'572) wm N
Give a critical appraisal of the Modigliani-Miller (MM) approach to the
theory of capital structure.
© WU % ? NcftT fen =i | |
What is corporate restructuring ? State the major forms in which it can
be carried out.
C-flVZ-O-DPNft 73
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